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(Logical Reasoning and Application)
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

1. Mark the correct answer (any ten) : 1×10

(a) How many types of Loukika Sannikar a are there according to Ny ya Philosophy?

(i) Four types (ii) Six types

(iii) Eight types (iv) Ten types

(b) Which sannikar a is used in the perceptions of ‘Smellness’?

(i) sa yoga (ii) samav ya

(iii) sa yukta samav ya (iv) sa yukta samaveta samav ya.

(c) An inference is called  when it is based on a middle term which is only positively
related to the major term.

(i) keval nvay (ii) kevalavyatirek

(iii) anvayavyatirek (iv) none of these

(d) Sound is eternal because it is audible and sound is non-eternal because it is produced. Here the
middle term is

(i) Satpratipak a (ii) Viruddha

(iii) As dhara a (iv) Svarup siddha.

(e) Who has defined an miti as ‘Par mar ajanyam j na  an miti’?

(i) Gautam (ii) Anna bha a

(iii) Gange a Up dhyaya (iv) Ka da

(f) ‘The hill is smoky because it is fiery.’— In this inference ‘hill’ is

(i) hetu (ii) s dhya

(iii) pak a (iv) none of these.

Please Turn Over



( 4 )T(5th Sm.)-Philosophy-G/SEC-A(a)/CBCS

(g) Informative, expressive and directive are three different uses of language in .

(i) law (ii) probability

(iii) logic (iv) literature

(h) What kind of case is it in which murderer is judged?

(i) Civil (ii) Criminal

(iii) Civil and Criminal (iv) None of these

(i) An appellate court must  and formulate and then  the rules of law.

(i) apply, identify (ii) identify, apply

(iii) apply, criticize (iv) identify, criticize

(j) Which kind of definition is generally used in legal cases?

(i) Persuasive definition (ii) Stipulative definition

(iii) Precising definition (iv) None of these

(k) What is ‘Sophism’?

(i) Apparently true but false argument (ii) Apparently false but true argument

(iii) Both (i) and (ii) (iv) None of these

(l) What is the name of the fallacy committed in the argument in which the conclusion is derived from
ambiguous premises?

(i) Fallacy of equivocation (ii) Fallacy of Amphiboly

(iii) Fallacy of Accent (iv) None of these

2. Answer in brief (any five) :

(a) Analyse the definition of ‘pak ata’. 5

(b) Explain with suitable examples pak a, apak a and vipak a in case of anum na. 5

(c) What is kevalavyatirek  li ga? Construct a five membered kevalavyatirek  anum na. 2+3

(d) Explain with an example the lak ana of satpratipak a hetv bh sa. 5

(e) What do you mean by analogical argument? 5

(f) Discuss, following Copi, about the application of concept of probability in legal reasoning. 5

(g) What is known as ‘Logical fallacies in law’? 5

(h) Explain with an illustration of the law of libel, the method of identifying the rules of law. 5

3. Answer the following questions (any three) :

(a) Explain the different kinds of laukika sannikar a with examples. 15



( 5 ) T(5th Sm.)-Philosophy-G/SEC-A(a)/CBCS

(b) (i) What is hetv bh sa? Discuss following D pik .

(ii) Point out the pak a, s dhya and hetu of the following anum nas and mention why they are
faulty? 7+(2×4)

(1) Sound is non-eternal because it is nameable, eg, red colour

(2) Atoms have parts, because they have the property of being atoms

(3) Hare’s horn is hard, as it is a horn

(4) Fire is cold, for it is of the nature of heat.

(c) Write short notes on the following : 7½+7½

(i) Logical application of the concept of ‘pak at ’.

(ii) Causation in legal reasoning.

(d) Explain the fallacies involved in logical reasoning. 15

(e) ‘The appeal to a higher court is normally based on the claim that some rule has been applied
improperly or that the wrong rule altogether has been applied.’ — What is the method of settling
this dispute? Discuss. 15


